
PCW3000 Pris ex moms: 

10-0098 BUSHING FOR SAFETY HOOK kr   63,00   

10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN kr   25,00   

10-0130 GUARD PLATE PCW3000 kr             315,00   

10-0132 ENGINE ALUMINUM COUPLING PCW3000 kr            215,00   

10-0133 ENGINE COUPLING PLATE PCW3000 kr   38,00   

10-0134 THROTTLE CABLE ASSEMBLY PCW3000 kr             430,00   

10-0135 ROPE EXIT HOOK PCW3000 SERIES kr          272,00   

10-0136 ROPE ENTRY HOOK PCW3000 SERIES kr            260,00   

10-0137  WINCH HANDLE PCW3000 kr           555,00   

31-0010 HCS 1/2-13 X 6 - GR5 - ZN kr   90,00   

31-0038 MACHINE SCREW 10-24 X 3/4 - ZN (PAN HEAD SQ. DR.) kr   10,00   

31-0081 HEX-SLOTTED FLANGED THREAD CUTTING SCREW 6-32 X 1/4 - ZN kr   10,00   

32-0004 BHCS M6-1 X 16 MM - SS kr   10,00   

32-0005 BHCS M6-1 X 20 MM - SS kr   12,00   

32-0007 SHCS M8-1.25 X 16 MM - BLACK kr   12,00   

32-0008 HEX FLANGE SERRATED BOLT M8-1.25 X 16MM - ZN kr      18,00   

32-0009 SHCS M5-0.80 X 10 MM kr   10,00   

32-0051 SHCS M6-1.0 X 16 MM - ZN kr   10,00   

32-0055 BHCS M5-0,8 X 8 MM - SS kr   12,00   

32-0056 HEX FLANGE SERRATED BOLT M6-1.0 X 20mm - ZN kr      15,00   

33-0005 NUT 1/2-13 NYLON - ZN kr      15,00   

33-0011 SQUARE NUT 10-24 - ZN kr   10,00   

35-0004 FLAT WASHER 1/2 - ZN kr   12,00   

39-0028 TAPPING SCREW - SLOTTED HEX WASHER HEAD - TYPE B - 10-16 X 1/2 kr   10,00   

43-0013 KEY FOR CAPSTAN DRUMS 57 MM, 85 MM, 108 MM (5/16 X 1-1/4) kr      42,00

43-0057 KEY FOR CAPSTAN DRUM 76 MM (8 MM X 30 MM) kr     42,00   

44-0002 THROTTLE LEVER PCW3000 kr             172,00   

49-0037 ROUND PLUG 3/4 kr     18,00   

PCA-1120 76 MM CAPSTAN DRUM WITH ROPE GUIDE AND 1 SCREW kr            1 290,00   

10-0129 CAPSTAN DRUM 76 MM kr   1 005,00   

10-0427 ALUMINIUM ROPE GUIDE FOR CAPSTAN DRUM 76 MM kr                 129,00   

10-0131 STEEL ROPE GUIDE FOR CAPSTAN DRUM 76 MM kr              235,00   

PCA-1281 SAFETY HOOK WITH LATCH kr               220,00   

Honda delar: 

70-0070 Motor  GX35 PCW 3000 kr      5 525,00   

45-0035 Starthus GX-35 kr            480,00   

45-0008 Filter element kr     70,00   

45-0010 Filter deksel kr              220,00   

45-0040 Tennplugg CMR5H kr              128,00   

39-0008 Oljeplugg kr     18,00   

45-0032 Av och på brytare kr     86,00   

70-0031 Av och på brytare komplett med konsol kr               250,00   

45-0020 Tanklock kr             220,00   

45-0039 Bensinfilter kr              380,00   

GAS-POWERED PULLING WINCH - GX35 CC

Reservdelar PCW 3000




